N
TUESDAY, NOVEMBER 20, 2012

Agenda:

- TISK Problems, No MM

+ Lesson 10-5: Solving for a Variable

+ Homework: p. 521 #23-29 odd & 34-36 all

TISK Problems

1) Simplify: =23 — 15

2) Solve for x: 5x —25=10

3) Whatis the probability of rolling doubles on a pair of
six-sided dice?

Homework Check

1) Solve ¢y + ¢, + €3 =P for ¢,
e TR N
—_—

QQ = P-ﬁ,-&

Homework Check

2. Solve £y + £, + €3 =P for ¢;
R RN N

bi=p-g,-1,
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Homework Check

3. Solve A—B+2=CforA.
+8 -2 +82
—_————— e —

A=Ct+B-2

]
Homework Check

4. Solve A—B + 2 =C forB.
+6

R+2=p+C
-t -C
A-Craz=pH
When the variable yov're So\\/ihg B is
V\eaa-\—ivl—) add H+ +o both sides of HA equa:\ion +o

Qs

Homework Check

5. SolvegA :Gdld%@r dy.

2= dd,
& L

24 _
59
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Homework Check

6. Solve a? + b? = c? for b.
At @ .
2 2 A s Hhe inverse °qjm+‘_°"
O‘F uavin -H|¢ﬂ;qa|'<- Tis
{F={ca (/'H@ sﬂa s(«?sa’\. the ordecof

Ofuadr(uns.
b=+l

When T introduce thed T must include
beth % Gnswes !

Homework Check

7. Solve S = (n — 2)480 for n.
I

Homework Check

8. Solve F = %c + 32 for C.
-3 -3

e

%(F‘?)l) = C/
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Homework Check

9. Solvey + 3x = 15 fory and graph. y+3x=15
) 7'31 -3x
N

2t 7:-3><+I5

£

& * o
—

us

]
Homework Check

10. Solve 2y — 9x = 14 for y and graph.

Homework Check

11. Solve 6x — 3y — 3 = 0for y and graph. X “3y-3=0
Y 43 +3

bx?: 3y
3 2

4+ 5

A
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810-5 Solving for a Variable

- Treat all the other variables like numbers.
- Isolate the variable you're solving for.




